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COMMERCE
(Honours Core)
Paper : COM-HC-2016
( Corporate Accounting)
: Full Marks : 80
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
1. (i) Fill in the blanks with appropriate
words : 1x5=5
ToR@ XA e SE 5[ 4 8

(a) Right shares are generally issued
at a price than the market
price.

WHTRYS SRHT AT ISR TS
- wive fJie AR
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(b) The Companies Act, 2013 _follows

format for preparatwn of
Final Account.

| I B3, 2059 B HUS o 2w
IEACS __ HilRE PR R |

(c) The issue of bonus shares must
be recommended by Board of
Directors and approved by the

@G Tiotg [ A% et 2l
ARG S 2™l SIS 29 &6 |

(d) Preacquisition proﬁts are
profits.

sfgR o A @ =A|

() The company into which another
company is amalgamated is called
company.

ﬁm@wﬁam—w«ﬂﬁ@ﬂmﬂﬁi
GFA IR 2T, 6713@1@1’“9{@35

e PR =
(i) State whether the following statements
are true or false : 1%x5=5

oo G I SR BT (7 w8

(a) Reduction in share capital must
be sanctioned by National
Company Law Board.
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o YA FRREE AW B @
- i3 AARER S SR 2T |
(b) At the time of valuation of goodwill,
only gross profit is considered.
FAER AR TS (@6 [ ST
Reaoar =1 =)

(c) Computer software is a non-
current asset.

Computer software 96l SHb{E®
AT |

(d) AS-24 deals with ‘accounting for
amalgamation’ of companies.
AS-24 (T FATRY @{TE Zo17
S Tee |

(e) Buy back of shares doesnot affect
the authorised share capital of
company.

LM 7 T TR TS (AT GO
SIS JHAGTS (FIAT SR (AT |

2. Answer the following que'stions ;. 2x5=10
TR AT e el ¢

(a) Write the meaning of issue of bonus
" shares.

@G Bexiog [ o &
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(b) State two objectives of a.malgamation

of companies.

(AP SRR 707 Sy |

(c) What is internal reconstruction ?
ST s R

(of) What do you mean by ‘holding
company’ ? | -
4T P~ I & gae

(e) Mention the names of various methods

of valuation of equity shares.

A ¥ AR [fen iz am
T 4 |

3. Answer any four of the following : |
' 5x4=20

mwwmmwﬁmw%m:

(a) Mention five conditions to be followed
for buy back of shares.

*lo{q #[1] TFF A NN 250 5% T
40
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Sunrise Ltd. has issued and paid up
* capital of 8,00,000 divided into equity

shares of 210 each. The balance in the
securities premium account was

21,40,000 and general reserve 280,000.
The company decided to buy back 20%
of its share capital from its shareholders

at 28 per share. ~
Pass journal entries in the books of
Sunrise Ltd. to record the above
transactions.
Sunrise Ltd.  8,00,000 B R&fFpe i
SWEFe AL @il 10 5Fl JER TR
1HoaS ©lsl T (20| SHHE g Zhiere
1,40,000 B T@ AMRY A« e MR
80,000 B& | @A 20% WX AL,
o751 Sxiofd 8 Tl SETS FE@d TS Al
a4 |

| eoigs ST (@AY 9 Sunrise Ltd.
T I3© TrAw 2R

(b) Explain the following :
oS (EIATE i A 38
() Deferred tax liability
s o |
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(i) Corporate dividend tax
et srenet 9
(c) Show journal entries in the books of

transferee company when amalgamation
is in the nature of purchase.

T Pl GTRAEIR FHIGH AT (AR
s Tl ke |

(d) Explain briefly the need for preparation
of consolidated Balance Sheet.

GEITe Ffog age TR UG TSl BT
TR 4 |

(e) The following information are taken
from Visual Co. Ltd. :

fefeifie w2 Visual Co. Ltd. 321 21
TR (R ¢
(i) Capital :
900 6% preference shares of T100
each fully paid.

9000 equity shares of ¥10 each
fully paid.

AL 3
900 6% SAETYE TLHG elﬁﬁ
' 100 B3 YAR T sfefes |
9000 X THiefd Afsol 10 B o0
Fsjefacel AR |
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(i) External liabilities 215,000
IfRFpi 15,000 TH

(i) Other equity %3,000
G AT 3,000 A

(iv) The average profit (after taxation)
earned every year is 210,500.

oS I T &S T IE@ 10,500 =/l
(IR I”M)

Calculate the value of each equity
-share.

AfS T S=ioEg & Sl 4 |

(/) Arohan Ltd. decided on 30.03.2023 to
convert its 80,000 fully paid equity

shares of 210 each into ¥7 per share

fully paid up and to return %3 per share
to equity shareholders.

Pass necessary journal entries in the
books of Arohan Ltd.

Arohan Ltd. (& 30.03.2023 @Rty @fe
¥l 5 TR 80,000 T4 AARTiifaS A=
weg efs 7 B gAR A~ ARCNiTe
GfAgE “ARaSd IRR PrarE o8 SR (T oo
GHAEd 3 5 ANULIIRE HFAS SwolR M |
Arohan Ltd. 3 33rs Tami 2fkfe frar |
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4. Answer the following questions : (any four)

10x4=40

CEGIRIS] amvrs;@%@ =12l ¢ (Fcwean s51f<613)

(a)

(b)

(c)

What is goodwill ? Explain the various
methods of valuation of goodwill.
2+8=10

T e I YR [ien swferg o

4|

‘Write four conditions for effecting

capital reduction. Explain the complete
procedure to be followed for capital
reduction. 4+6=10
I YU ZPTFIR 50 56 il | S o
291 11 I3 NifRgerstal 1o aiferal ap < |
The following ledger balances are

extracted from the books of Divine Ltd.
on 31. 03 2023 :

Divine Ltd. ¥ 31.03.2023 ©ik¥s weie 7l
AN TFET T (KR ¢

Particulars f@@d) | Amount (3)

sifdaie (5F)

20,000 equity shares of 2100 each 20,00,000

SfSiB® 100 THE 20,000 TN KT

Sundry Creditors . 7,20,000

Ry Aleami
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Particulars @&

Amount ()

sffewd (5<F)
Bank Loan 4.00,000
RG] ¥
Proposed Dividend 1,00,000
%S wreid
10% Debentures 8,00,000
10% 39473
General Reserve 2.80,000
A4 4G ¢
Securities Premium Reserve 1,00,000
Surplus in Statement of Profit & Loss
on 31.03.2023 ' 4,00,000
31.03.2023 ©R4s Ae-@@wR [Jfea A%
Livestock 3,00,000
AT
Land and Building 10,80,000 .
Cash in Hand 1,00,000
Cash at Bank 2,00,000
(X9 T
Stock in Trade 4,20,000
WS AP
Furniture 6,00,000
v

Contd.
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Particulars @@ - | Amount ()

| o (Ga)
Plant and Machinery 10,00,000 .
TG IR GAfS |
Sundry Debitors 8,80,000
R4 (A o
Prepaid Expenses 20,000
wfew oG 49
Long Term Investments | 2,00,000
mf Ricae

You are required to prepare a Balance
Sheet of the company as per schedule
III of the Companies Act, 2013.

20135?1@@1@{@@&«31%1111@%@&@
T [Ffora oEe 4 |

.. (d) Sailash Ltd. and Kailash Ltd. decided
to amalgamate and a new company SK
Ltd. is formed to take over both the
companies as on 31lst March, 2023.
The following are the Balance Sheets
as on that date :

Sailash Ltd. Si% Kailash Ltd. (¥ G@a@=e
I Prals =78 = Y0 (@roii<] Sfgaze <19
B 31.03.2023 St OB B @AM
SK Ltd. 517 R | (12 == gt @r{i|is
TG 7@ e Tl 4379 ¢
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Particulars <&

Amount %"= (3) 5

Sailash Ltd.

Kailash Ltd.

I. Equity and Liabiliues
AN e (AT

1. Shareholder’s Fund
MRS FER A

(a)

(b)

Share Capital

g T

Equity shares of 210 each
fully paid

gferdl 10 WS 7R 74T
Reserve and Surplus

s e R A7

Reserve Fund

s 47

Dividend Equalisation Fund

eI TR A

. Workman Compensation Fund

ufie = @
Surplus in the Statement of
Profit & Loss '

2. Non-current Liabilities

10% Debenture
10% 29993
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10,00,000

4,00,000

40,000

60,000

6,00,000

3,00,000

2,00,000

1,00,000

1,00,000

Contd.




Particulars @&l -

Amount AR () 5

Sailash Ltd.

Kailash Ltd.

3. Current Liabilities
©bfEe
Trade Payables :
IS 40 ¢
Sundry Creditors
fefdig e
Bills Payable
vl e
Total ‘qﬁ
I1. Assets ™6 .
1. Non-current Assets
(a) Property & Equipment
=i e AGH
~ (b) Goodwill Fi™
(c) Other Intangible Assets
Patent & Trade mark
3for TR AR bz
2. Current Assets
b AifG
(a) Inventory
9 AP
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2,00,000 |  2,40,000
1,00,000 60,000
18,00,000 | 16,00,000
9,00,000 [ 8,90,000
2,00,000 | 1,60,000
—| 1,05,000
4,00,000 | 3,00,000




Particulars <&l - Amount % ) =
Sailash Ltd. |Kailash Ltd.

(b) Trade Receivables :
GRS A 3

Debtors ("~M13 2,00,000 1,00,000
Bills Receivable 1% R — 40,000
(c) Cash & Cash Equivalents 1,00,000 5,000

RO % W R

Total 3 | 18,00,000 | 16.00,000

Calculate the purchase consideration
of both the companies and prepare the
amalgamated Balance Sheet of SK Ltd.
assuming the amalgamation is in the
nature of purchase.

WA @R @ Afoniag sfsie sia @4
oS T APfed @FaeRd 4kt SK Ltd. 3
GTIIFANR 2ITTS| &g 29 AES A |

() The following are the Balance Sheets

of ‘Himesh Ltd.” and its subsidiary co.
‘Shekhar Ltd.” as on 31st March, 2023 :

‘Himesh Ltd.’ <= 33@ S4B (3. ‘Shekhar
Ltd.’ 31.03.2023 ©ifR41 T7E #iq were fwal

PG R
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Balance Sheets t5€ 7@

Particulars

ferad

Amount 7RI (3) <

Sailash Ltd.

Kailash Ltd.

I. Equity and Llablhtles
AANH G (MR
1. Shareholder’s Fund
RS A
(a) Share Capital
VICREE
ﬁgmty Shares of 210 each
10 (& T 29
(b) Reserve and Surplus
AiES ‘ﬁ%? UIEe 3@
Surplus in the Statement of
Profit & Loss
2. Current Liabilities
beS (W
Trade Payables :
A 2T 3
Sundry Creditors
fafig sfteamr
Total fjﬁ -
I1. Assets 7@ )
1. Non-current Assets
TS A
Plant, Property and Equipment
"2.-Non-current Investment
sSR!
3200 Shares in Shekhar Ltd.
Shekhar Ltd 3 3200 TG -
Total ¢
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1,20,000

10,000

34,000

40,000

8,000

12,000

1,64,000

60,000

1,36,000

28,000

60,000

1,64,000

60,000




The shares were acquired by Himesh
Ltd. on 1st October, 2022. Prepare the
consolidated Balance Sheet of Himesh
Ltd. and Shekhar.Ltd. as on 31.03.2023

and show necessary workings.

01.10.2022 <If<¥s Himesh Ltd. (¥
Shekhar Ltd. ¥ S¥od {49z SR |
31.03.2023 Sy @Fa(Fe [Zoald oee 3
R TS T steit I (e |

() Coal India Ltd. resolved to utilise
¥2,50,000 of its General Reserve
Balance to declare a bonus to
shareholders by paying the final call of
¥2.50 per share on 1,00,000 équity
shares of 210 each. The company
further decided to utilise the balance
of Securities Premium Reserve Account
of 22,00,000 by issuing fully paid up

bonus shares.

Pass journal entries in the books of
the company and also show the ratio

of bonus issue.
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Coal India Ltd. (3 pOIG ©o® SHMIN (3
I3 AfSThl WA 2.50 THE 10 T
1,00,000 Bi Sig<i7 3754 SIMRgre {25191 Fliae]
i #f@1 2,50,000 53 IZE R A6 9
et R0 | TS @™AMIGIE THog SfagT

feptea a1 2,00,000 T =5 SwragS b
o f1ifet BlRee |
- NI 92 St 2k frar o s S
R Seirs T = |
(g9 What is right share ? Explain the
advantages of right issue. 4+6=10
TEgE o F e wiieRge W {m
FREPTIR A |
(h) Write notes on : | 9+5=10
59 (Or foat
() Amalgamation in the nature of
merger -
SR ooy el |
(i) Different forms of internal
reconstruction

wﬁqwmﬁﬁw
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